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 INTERMEDIATE EXAMINATION – 2021 (ANNUAL) 

Model Set 

AGRICULTURE (OPT.) 

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- bl iz’u&i= dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr 

le; fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidate to 

read the questions carefully. 

4- ;g iz’u&i= nks [k.Mksa esa gS]  ,oa  

This question paper has two sections : Section-A and Section-B. 

5- [k.M&v esa 70 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 35 iz’uksa dk mÙkj nsuk vfuok;Z 

gSaA 35 iz’uksa ls vf/kd dk mrj nsus ij izFke 35 dk gha ewY;kadu gksxkA izR;sd 

ds fy, 1 vad fu/kkZfjr gSA budk mÙkj nsus ds fy, miyC/k djk;s x;s 

OMR&mÙkj i=d esa fn;s x;s lgh o`Ùk dks uhys@dkys ckWy isu ls HkjsaA fdlh 

Time :- 3 Hours 15 minutes 
le; % 3 ?kaVs 15 feuV 

Full Mark - 70 
iw.kkZad & 70 

Sub. Code - 120 



2 
 

Hkh izdkj ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk OMR ’khV esa 

iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 70 objective type questions, out of which 

any 35 questions are to be answered. If more than 35 questions 

are to be answered, then only first 35 will be evaluated. Each 

question carries 1 mark. Darken the circle with blue/ black/ ball 

pen against the correct option on OMR Answer sheet provided to 

you. Do not use whitener/liquid/blade/nail etc. on the OMR Answer 

sheet, otherwise the result will be invalid. 

[k.M&c esa 20 y?kqmÙkjh; iz’u gSa] ftuesa ls fdUgha 10 iz’uksa ds mÙkj nsuk 

vfuok;Z gSA izR;sd iz’u ds fy, 02 vad fu/kkZfjr gS] buds vfrfjDr bl [k.M 

esa 06 nh?kZ mÙkjh; iz’u fn, x, gSa] ftuesa ls fdUgha 03 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA izR;sd iz’u ds fy, 05 vad fu/kkZfjr gSaA  

In Section-B, there are 20 Short answer type questions, out of 

which any 10 questions are to be answered. Each question carries 

02 marks. Apart from this, there are 06 Long answer type 

questions, out of which any 03 questions are to be answered. 

Each question carries 05 mark. 

6- fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 
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iz'u la[;k 1 ls 70 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls 

,d lgh gSA vius }kjk pqus x, lgh fodYi dks OMR& 'khV ij fpfUgr djsaA fdUgha 35 

iz’uksa dk mÙkj nsaA         (35x1=35) 

 

Section-A (Objective Type Questions) 

Question No.- 1 to 70 have four options, out of which only one is 

correct. You have to mark your selected option on the OMR sheet. Answer 

any 35 questions only.        (35x1=35)  

 

1- fuEu esa ls dkSu lk [kjhQ Qly gSa \ 

A- xsgw¡     B- eVj 

C- /kku     D- puk 

Which of the following is kharif crop ? 

A- Wheat`    B- Pea 

C- Rice    D- Gram 

2- fuEu esa ls dkSu nyguh Qly gS \ 

A- eDdk    B- xUuk 

C- xsgw¡     D- eVj 

Which one of the following is Pulse crop? 
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A. Maize    B. Sugar cane 

C. Wheat    D. Pea 

3- buesa ls dkSu js’ksokyh Qly gS \   

A- twV     B- puk  

C- /kku     D- xsgw¡ 

Which of the following is fibre crop ? 

A. Jute     B. Gram 

C. Rice    D. Wheat 

4- fuEu esa ls dkSu lCth dh Qly gSa \ 

A- vjgj    B- cSaxu 

C- eDdk    D- twV 

Which of the following is vegetable crop ? 

A. Red Gram (Arhar)  B. Brinjal   

C. Maize    D. Jute 

5- Pkkjs dh Qly dk mnkgj.k gSa ------------------------- 

A- cjlhe    B- /kku  

C- xsgw¡     D- cSxu 

Example of forage crop is ……. 

A. Berseem    B. Rice 
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C. Wheat    D. Brinjal 

6- /kku dh cqvkbZ dk le; D;k gS \ 

A- ebZ& twu    B- uoEcj& fnlEcj 

C- tuojh& Qjojh   D- fnlEcj& tuojh 

What is the sowing time of Rice ? 

A. May- June   B. November- December 

C. January- February  D. December- January 

7- buesa ls dkSu /kku dh lqxaf/kr fdLe gSa \ 

A- lhrk     B- jktsUnz 'osrk  

C- lR;e    D- lksukpwj 

Which of the following is the veriety of scented Rice ? 

A. Seeta    B. Rajendra Sweta 

C. Satyam     D. Sonachur 

8- Xksgw¡ dh cqvkbZ dk le; D;k gSaa \ 

A- Qjojh&ekpZ    B- vizSy&ebZ 

C- vDVwcj&uoEcj   D- twu&tqykbZ 

What is the sowing time of wheat? 

A. February- March  B. April- May 

C. October- November  D. June- July 
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9- buesa ls dkSu xsgw¡ dh chekjh gSa \ 

A- ;syks osu ekstSd   B- lQsn gjnk  

C- vuko`r dfydk   D- buesa ls dksbZ ugha 

Which of the following is the diseases of wheat ? 

A. Yellow vein Mosaic  B. White Rust 

C. Loose smut   D. None of these 

10- d`f"k o"kZ dc lekIr gksrk gS \ 

A- uoEcj& fnlEcj   B- Qjojh& ekpZ  

C- vizSy&ebZ    D- buesa ls dksbZ ugha 

When Agriculture year ends ? 

A- November- December B- February- March  

C- April-May    D- None of these 

11- buesa ls dkSu vUrjorhZ [ksrh dk ,d mnkgj.k gS \ 

A- tkS$puk    B- eDdk$vkyw  

C- eDdk$vjgj   D- buesa ls dksbZ ugha 

Which of the following is an example of inter cropping ? 

A. Barley+ Gram   B. Maize+ Potato 

C. Maize + Red gram (Arhar) D. None of these 

12- buesa ls dkSu fof/k cxhpk dh flapkbZ ds fy, mi;qDr gS \ 
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A- ty Iykou    B- psd csflu fof/k 

C- csflu fof/k    D- buesa ls dksbZ ugha 

Which of the following method of irrigation is suitable for orchard ? 

A. Flooding    B. Check Basin Method 

C. Basin Method   D. None of these 

13- buesa ls dkSu Qly ty teko ls vR;f/kd izHkkfor gksrk gS \ 

A- eDdk    B- xUuk 

C- /kku     D- buesa ls dksbZ ugha 

Which of the following crop is most affected by water logging ? 

A- Maize    B. Sugar cane 

C- Rice    D- None of these 

14- buesa ls dkSu lk e`nk lq/kkjd gS \ 

A- ftIile    B- lksfM;e DyksjkbM 

C- ;wfj;k    D-  buesa ls dksbZ ugha 

Which of the following is soil Amender ? 

A. Gypsum    B. Sodium chloride 

C. Urea    D. None of these 

15- buesa ls dkSu [kjirokjuk’kh gS \ 

A. okfofLVu    B- DyksjksaikbfjQkWl 
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C- ,xzkslu th ,u   D- vkblksaizksVqjkWu 

Which of the following is weedicide ? 

A. Bavistin    B. Chlorophrifos 

C. Agrosan G N   D. Isoproturon 

16- buesa ls dkSu cht ls iSnk gksus okyk [kjirokj gS \ 

A- cFkqvk    B- nwc 

C- fgj.k[kqjh    D- eksFkk 

Which of the following weed produced from seeds ? 

A- Bathua    B- Dub 

C- Hirankhuri   D- Motha 

17- buesa ls dkSu cgqo"khZ; [kjirokj gS \ 

A- nwc      B- cFkqvk 

C- ihyk /krqjk ¼vkWjtheksuh esDlhdkuk½  D- buesa ls dksbZ ugha 

Which of the following is perennial weed ? 

A. Dub     B. Bathua 

C. Yellow Dhatura (Argemone Mexicana) D. None of these 

18- buesa ls dkSu ruk ls iSnk gksus okyk [kjirokj gS \ 

A- nwc     B- eksFkk 

C- cFkqvk    D- buesa ls dksbZ ugha 
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Which of the following is reproduced by stem ? 

A. Dub    B. Motha 

C. Bathua   D. None of these 

19- buesa ls dkSu pkSM+h iRrh okys [kjirokj gS\ 

A- nwc    B- eksFkk 

C- cFkqvk   D- buesa ls dksbZ ugha 

Which of the following is Broad leaved weed? 

A. Dub    B. Motha 

C. Bathua   D. None of these 

20- buesa ls fdl Qly dk gjh [kkn esa mi;ksx gksrk gS \ 

A- ewax    B- xsgw¡ 

C- /kku    D- buesa ls dksbZ ugha 

Which of the following crop is used for Green manuring ? 

A. Mung   B. Wheat 

C. Rice   D. None of these 

21- buesa ls fcgkj esa fdl Qly dh mRikndrk ns’k dh vkSlr mRikndrk ls vf/kd 

gksrh gS \ 

A- xUuk    B- nygu ,oa rsygu 

C- pkoy   D- buesa ls dksbZ ugha 
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Which of the following crop has more productivity than national 

average in Bihar ? 

A. Sugar cane  B. Pulse and oil seed 

C. Rice   D. None of these 

22- lgdkjh lkewfgd [ksrh esa Hkwfe dk izca/ku --------------- :Ik ls fd;k tkrk gSA 

A- O;fDrxr   B- lkewfgd 

C- A ,oa B nksuks  D- buesa ls dksbZ ugh 

Management of land is in …….. form in cooperative collective 

farming. 

A. Individual   B. Collective 

C. Both (A) and (B) D. None of these 

23- buesa ls dkSu xehZ esa mitk;h tkrh gS \ 

A- vkyw    B- rjcwt 

C- QwyxksHkh   D- buesa ls dksbZ ugha 

Which of the following grown in summer ? 

A. Potato   B. Water melon 

C. Cauliflower  D. None of these 

24- buesa ls dkSu m".k dfVcaU/kh; tyok;q ds Qy ¼Tropical Fruit½ gS \ 

A- vke    B- lso 
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C- LVªkWcsjh   D- buesa ls dksbZ ugha 

Which of the following is tropical fruit ? 

A. Mango   B. Apple 

C. Straw berry  D. None of these 

25- buesa ls dkSu ,d o"khZ; lCth gS \  

A- cSxu    B- dsyk 

C- QwyxksHkh   D- buesa ls dksbZ ugha 

Which of the following is an Annual vegetable ? 

A. Brinjal   B. Banana 

C. Cauliflower  D. None of these 

26- vkyw fdl ekSle dh lCth gS \ 

A- xzh"edkyhu    B- o"kkZdkyhu 

C- ’khrdkyhu   D- buesa ls dksbZ ugha 

Potato is the vegetable of which seasons ? 

A. Summer   B. Rainy 

C. Cool   D. None of these 

27- buesa ls dkSu ’kq"d {ks= ds fy, mi;qDr Qy gS \ 

A- ve:)   B- LVªkWcsjh 

C- csy     D- buesa ls dksbZ ugha 
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Which of the following fruit is suitable for arid region ? 

A. Guava   B. Straw berry 

C. Bael   D. None of these 

28- buesa ls dkSu vke dh ladj fdLe gS \ 

A. yaXkM+k   B- fgelkxj 

C- vezikyh   D- buesa ls dksbZ ugha 

Which of the following is the variety of hybrid Mango ? 

A. Langra    B- Himsagar 

C- Amrapali   D- None of these 

29- buesa ls dkSu iihrk dh fdLe gS \ 

A- iwlk Msfyfl;l  B- iwlk Tokyk 

C- iwlk ukjaxh   D- buesa ls dksbZ ugha 

Which of the following is the variety of papaya ? 

A. Pusa Delicious  B. Pusa Jwala 

C. Pusa Narangi  D. None of these 

30- buesa ls fdl Qy dk izo)Zu eq[; :Ik ls cht ¼Seed½ }kjk gksrk gSa \ 

A- iihrk   B- dsyk 

C- yhph    D- buesa ls dksbZ ugha 

Which of the following fruit is mainly propagated through seed ? 
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A. Papaya    B. Banana 

C. Litchi     D. None of these 

31- ’kkgh fdl Qy dh fdLe gS \ 

A- yhph     B- lso 

C- ve:)     D- dsyk 

Shahi is the variety of which fruit ? 

A. Litchi    B. Apple 

C. Guava    D. Banana 

32- buesa ls fdls foyk;rh cSaxu tkrk gS \ 

A- cSaxu     B- VekVj 

C- vkyw     D- buesa ls dksbZ ugha 

Which of the following is called as Bilayati Baigan ? 

A. Brinjal    B. Tomato 

C. Potato    D. None of these 

33- fHka.Mh dk cht nj D;k gS \ 

A- 25&30 fd0xzk0@gs0  B- 75&100fd0xzk0@ gs0 

C- 8&10 fd0xzk0@gs0   D- buesa ls dksbZ ugha 

What is the seed rate of Lady finger (Bhindi) ? 

A- 25-30 kg/hec    B- 75-100 kg/hec 
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C- 8-10 Kg/hec   D- None of these 

34- buesa ls dkSu fHka.Mh dh chekjh gS \ 

A- pw.khZ QQw¡nh    B- ihyk ’khjk jksx 

C- eǹqjksfey QQw¡nh   D- buesa ls dksbZ ugha 

Which of the following is the disease of lady finger (Bhindi) ? 

A- Powdery Mildew  B- Yellow vein Mosaic 

C- Downy mildew   D- None of these 

35- buesa ls dkSu e’kkyksa okyh Qly ugha gSa \ 

A- /kfu;k    B- gYnh 

C- thjk     D- VekVj 

Which of the following is not spices crop?  

A. Coriander    B. Turmeric 

C. Cumine    D. Tomato 

36- buesa ls dkSu Qwyksa dk jktk gS \ 

A- xsank     B- xqykc 

C- XysfM;ksyl    D- buesa ls dksbZ ugha 

Which of the following is king of flower ? 

A. Marigold    B. Rose 

C. Gladiolus    D. None of these 
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37- xsank dk cht nj D;k gS \ 

A- 800 xzke@gs0   B- 2 fd0xzk0@gs0 

C- 5 fd0 xzk0@gs0   D- buesa ls dksbZ ugha 

What is the seed rate of Marigold ? 

A. 800 gm/hec   B. 2 kg/hec 

C. 5 kg/hec    D. None of these 

38- buesa ls dkSu dUnh; Qwy dh jkuh gS \ 

A- V;wcsjkst    B- XySfM;ksyl 

C- Mgfy;k    D- buesa ls dksbZ ugha 

Which of the following is “Queen of tuberous” flower ? 

A. Tuberose    B. Gladiolus 

C. Dahlia    D. None of these 

39- buesa ls dkSu lqxaf/kr ikS/kk gS \ 

A- esUFkk     B- VekVj 

C- cSxu     D- buesa ls dksbZ ugha 

Which of the following is Aromatic plant ? 

A. Mentha    B. Tomato 

C. Brinjal    D. None of these 

40- buesa ls dkSu vkS"k/kh; ikS/kk gS \ 
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A- dkyes?k     B- fHkMha 

C- VekVj    D- buesa ls dksbZ ugha 

Which of the following is Medicinal Plant ? 

A. Kalmegh    B. Lady Finger (Bhindi) 

C. Tomato    D. None of these 

41- esaFkk ,d ikS/kk gSa \ 

A- ,d o"khZ;    B- f}o"khZ; 

C- cgqo"khZ;    D- buesa ls dksbZ ugha 

Mentha is a Plant ? 

A- Annual    B- Biennial 

C- Perennial    D- None of these 

42- fuEufyf[kr esa ls fdldk O;olkf;d Hkkx cht gksrk gS \ 

A- v’oxa/kk    B- fxyks; 

C- blcxksy    D- buesa ls dksbZ ugha 

Which of the following has commercial part seed ? 

A. Ashwagandha   B. Giloy  

C. Isabgol    D. None of these 

43- buesa ls dkSu mrstd Qly ugha gSa \ 

A- pk;     B- rEckdw 
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C- vkyw    D- dkWQh 

Which of the following is not a stimulant crop ? 

B. Tea    B. Tobacco 

C. Potato   D. Coffee 

44- buesa ls dkSu mFkyh tM+ okyh Qly gSa \ 

A- vjgj    B- eDdk 

C- dikl   D- buesa ls dksbZ ugha 

Which of the following is shallow rooted crop ? 

C. Red Gram (Arhar) B. Maize 

C. Cotton   D. None of these 

45- buesa ls dkSu /kku Qly dh xgjs ikuh ¼1-0 eh0 rd½ dk izHksn gSa \ 

A- lq/kk     B- tkudh 

C- cSnsgh    D- buesa ls lHkh 

Which of the following is the variety of deep water (up to 1.0 

meter) rice crop ? 

D. Sudha   B. Janki 

C. Vaidehi   D. All of these 

46- ’kjn dkyhu xUuk ds jksikbZ dk le; D;k gS \ 

A- 15 vDVwcj ls 30 uoEcj   B- 15 Qjojh ls 15 ekpZ 



18 
 

C- 15 vizSy ls 15 ebZ  D- buesa ls dksbZ ugha 

What is the time of transplanting of winter season Sugar cane ? 

A. October 15 to November 30 B. February 15 to March 15 

C. April 15 to May 15   D. None of these 

47- flrEcj vjgj ds cqvkbZ dk le; D;k gS \ 

A- 25 flrEcj ls 15 vDVwcj  B- 25 vxLr ls 15 flrEcj 

C- 20 flrEcj ls 30 flrEcj D- buesa ls dksbZ ugha 

What is the sowing time of September Arhar ? 

A. September 25 to October 15 B. August 25 to September 15 

C. September 20 to September 30 D. None of these 

48- buesa ls dkSu dkcqyh puk dk izHksn gSa \ 

A- cgkj      B- ’kjn 

C- lqHkzk     D- buesa ls dksbZ ugha 

Which of the following is the variety of Kabuli Chana ? 

A. Bahar    B. Sharad 

C. Subhra    D. None of these 

49- buesa ls efYydk ¼ds 75½ fdldk izHksn gSa \ 

A- elwj      B- puk 

C- ewax     D- buesa ls dksbZ ugha 
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Which of the following has the variety Mallika ( K75) ? 

A. Lentil    B. Gram 

C. Green Gram   D. None of these 

50- dqcsj fdldk izHksn gSa \ 

A- puk      B- ewaxQyh 

C- lw;Zeq[kh    D- buesa ls dksbZ ugha 

Kuber is the Variety of which crop ? 

A. Gram    B. Groundnut 

C. Sunflower    D. None of these 

51- buesa ls dkSu fefJr [ksrh dk mnkgj.k gS \ 

A- tkS$puk     B- eDdk$vkyw 

C- vjgj$ew¡xQyh   D- buesa ls dksbZ ugha 

Which of the following is an example of Mixed cropping ? 

A. Barley+Gram   B. Maize+Potato 

C. Redgram + Groundnut D. None of these 

52- buesa ls dkSu cgqeatyh [ksrh dk mnkgj.k gS \ 

A- tkS$puk     B- puk$rhlh 

C- xUuk$ewyh    D- buesa ls dksbZ ugha 

Which of the following is an example of multi storied cropping ? 
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A. Barley + Gram   B. Gram+ Linseed 

C. Sugar cane+ Radish  D. None of these 

53- eDdk dk dqy ty vko’;Drk fdruk gS \ 

A- 200 ls0eh0     B- 50-0 ls0 eh0 

C- 62-5 ls0eh0    D- buesa ls dksbZ ugha 

What is the total water requirement of Maize ? 

A. 200 cm    B. 50.0 cm 

C. 62.5 cm    D. None of these 

54- buesas ls dkSu ty eXurk dks lgu djus okyh Qly gS \ 

A- twV      B- eDdk 

C- puk     D- buesa ls dksbZ ugha 

Which of the following is tolerant to water logging ? 

A. Jute    B. Maize 

C. Gram    D. None of these 

55- buesa ls dkSu ,d cht&i=h [kjirokj dk mnkgj.k gS \ 

A- cFkqvk     B- edks; 

C- eksFkk     D- buesa ls dksbZ ugha 

Which of the following is an example of monocotyledonous weed ? 

A. Bathua    B. Makoy 
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C. Motha    D. None of these 

56- buessa ls dkSu LFkkukUrfjr 'kkduk’kh gS \ 

A- 2] 4&Mh     B- 2] 4] 5&Mh 

C- ,e0lh0ih0,0   D- buesa ls lHkh 

Which of the following is translocated herbicide ? 

A. 2, 4 -D    B. 2,4,5- D 

C. MCPA    D. All of these 

57- [kYyh esa ukbVªkstu gksrk gS ------------------ 

A- 1-0&2-0 %     B- 1-5 & 3-5 % 

C- 2-0&7-0 %    D- buesa ls dksbZ ugha 

Nitrogen in oil cake is ………….. 

A. 1.0 - 2.0 %   B. 1.5 - 3.5 % 

C. 2.0 - 7.0 %   D. None of these 

58- Ukhy gfjr 'kSoky dk mi;ksx fdlesa gksrk gS \ 

A- eDdk     B- /kku 

C- puk     D- buesa ls dksbZ ugha 

Blue green Algae is used in which crop ? 

A. Maize    B. Rice 

C. Gram    D. None of these 
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59- buesa ls dkSu dUn oxhZ; Qly gS \ 

A- [khjk      B- 'kdjdUn 

C- VekVj    D- buesa ls dksbZ ugha 

Which of the following is tuber crop ? 

A. Cucumber   B. Sweet Potato 

C. Tomato    D. None of these 

60- buesa ls dkSu Mwi gS \ 

A- dsyk      B- iihrk 

C- vke     D- buesa ls dksbZ ugha 

Which of the following is Drupe ? 

A. Banana    B. Papaya 

C. Mango    D. None of these 

61- vfr l?ku ckxokuh esa izfr gsDVs;j IkkS/kksa dh la[;k fdruh gksrh gS \ 

A- 500&1500     B- 1500& 10]000 

C- 10]000& 1]00]000   D- buesa ls dksbZ ugha 

How many plants planted per hectare in ultra high density planting ? 

A. 500- 1500   B. 1500- 10, 000 

C. 10, 000- 1,00, 000  D. None of these 

62- buesa ls fdl Qy dk mi;ksx lCth ds :Ik esa gksrk gS \ 
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A- vke      B- yhph 

C- dVgy    D- buesa ls dksbZ ugha 

Which of the following fruit is used as vegetable ? 

A. Mango    B. Litchi 

C. Jack Fruit    D. None of these 

63- buesa ls iÙkkxksHkh dk [kkus okyk Hkkx D;k gksrk gSa \ 

A- tM+      B- iRrh 

C- ruk     D- buesa ls dksbZ ugha 

Which of the following is edible portion of cabbage ? 

A. Root    B. Leaf 

C. Stem    D. None of these 

64- fHakMh dk mRifr LFky dgk¡ gS \ 

A- vQzhdk     B- ,f’k;k 

C- vesfjdk    D- vkWLVªsfy;k 

Where is the origin of lady finger ? 

A. Africa    B. Asia 

C. America    D. Australia 

65- eVj fdl dqy dk ikS/kk gS \ 

A- ekyoslh     B- ysxqfeuslh 
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C- dqdqjfoVSlh    D- buesa ls dksbZ ugha 

Pea is the plant of which family ? 

A. Malvaceae   B. Leguminaceae 

C. Cucurbitaceae   D. None of these 

66- Ikkyd dk dkSu Hkkx [kkus esa mi;ksx gksrk gS \ 

A- tM+      B- iRrh 

C- iq"Ik     D- buesa ls dksbZ ugha 

Which Part of Spinach is used to eat ? 

A. Root    B. Leaf 

C. Flower    D. None of these 

67- xqynkmnh dk izo/kZu dSls fd;k tkrk gSa \ 

A- cht      B- ldj 

C- dfV~aVx    D- lHkh 

How chrysanthemum is Propagated ? 

A. Seed    B. Sucker 

C. Cutting    D. All 

68- xqykc fdl dqy dk ikS/kk gSa \ 

A- QcSlh     B- :VSlh 

C- jkstslh    D- buesa ls dksbZ ugha 
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Rose is the plant of which family ? 

A. Fabaceac   B. Rutaceac 

C. Rosaceac    D. None of these 

69- xqykc dh dVkbZ& NVkbZ dk le; gSa ------------ 

A- vDVwcj     B- tuojh 

C- tqykbZ    D- flrEcj 

Pruning time of Rose is ………. 

A. October    B. January 

C. July     D. September 

70- flVªksusyk ,d ikS/kk gS ------------------ 

A- ,d o"khZ;     B- f}o"khZ; 

C- cgqo"khZ;    D- buesa ls dksbZ ugha 

Citronella is a plant ………. 

A. Annual    B. Biennial 

C. Perennial    D. None of these 

Section-B (Non-Objective Type Quesitons) 

Short Answer Type Questions
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iz’u la[;k 1 ls 20 rd y?kq mÙkjh; iz’u gSaA buesa ls fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd 

iz’u ds fy, 2 vad fu/kkZfjr gSA 'kCn lhek 30&40 'kCnA    (10x2=20) 

Question no. 1 to 20 are Short answer type questions. Answer any 10 

questions. Each question carries 2 marks. Word limit 30-40 word.  

           (10x2=20) 

1- eDdk dh nks ladj fdLeksa ds uke fy[kasA      2 

Write two hybrid verities of Maize. 

2- Pkuk ds mi;ksx dks fy[ksaA        2 

Write the use of Gram. 

3- xUuk ds yky lM+u jksx ij fy[ksaA      2 

Write on the disease Red rot of Sugarcane. 

4- fepZ ds nks fdLeksa ds uke fy[kasA       2 

Write two verities name of chilli. 

5- VekVj ds mi;ksxksa dks fy[ksaA       2 

Write uses of tomato. 

6- Ekkyk ds fy, mi;qDr nks Qwyksa ds uke fy[kasA     2 

Write two names of flowers suitable for garland. 

7- dV ¶ykoj ds fy, mi;qDr nks Qwyksa ds uke fy[kasA    2 

Write two names of flowers suitable for cut flower. 

8- [kqys Qwy ds :Ik esa mi;ksx gksus okys nks Qwyksa ds uke fy[ksaA   2 

Write two names of flowers used as loose flower. 
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9- tSfod [kkn cukus dh fof/k;ksa ds uke fy[ksaA     2 

Write name of methods of organic manure preparation. 

10- uhy gfjr 'kSoky D;k gS \        2 

What is Blue green Algae ? 

11- dUn oxhZ; nks lfCt;ksa ds uke fy[ksaA      2 

Write names of two tuberous vegetable. 

12- nks cM+sa ikS/kksa ds mnkgj.k fy[ksaA     2 

Write two examples of Big tree. 

13- QwyxksHkh ds mi;ksx dks fy[kasA       2 

Write uses of Cauliflower. 

14- VekVj dh nks fdLeksa ds uke fy[ksaA      2 

Write names of two verities of Tomato. 

15- iRrkxksHkh ds fy, dSlh feV~Vh dh vo’;Drk gksxh \    2 

Which soil will be needed for cabbage? 

16- nks dUnzh; Qwy ds uke fy[ksaA       2 

Write names of two tuberous flowers. 

17- LDoS’k ds fy, mi;qDr Qy dk uke fy[ksaA     2 

Write the name of fruit suitable for squash. 

18- izlkj dh nks fof/k;ksa ds uke fy[ksaA      2 

Write names of two extension methods. 

19- ve:) esa Qy eD[kh ds fu;a=.k ds mik; fy[kasA    2 
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Write method of control of fruit fly in Guava. 

20- Ukdnh Qly D;k gSa \         2 

What is cash Crop ? 

Section-C 

Long Answer Type Questions

iz’u la[;k 21 ls 26 rd nh?kZ mÙkjh; iz’u gSaA fdUgha 3 iz’uksa ds mÙkj nsA izR;sd iz’u ds 

fy, 5 vad fu/kkZfjr gSaA        (5x3=15) 

Question no. 21 to 26 are Long answer type questions. Answer any 3 

questions. Each question carries 5 marks.    (5x3=15) 

21- /kku dh [ksrh dk fuEufyf[kr 'kh"kZdksa esa o.kZu djsaA    5 

(a). okuLifrd uke (b). mRifr LFky (c). e`nk (d). cht LFkyh dh rS;kjh 

(e). [kjirokj izca/ku 

Describe the cultivation of Rice under following heads:- 

(a). Botanical Name (b). Origin Place (c). Soil (d). Seedbed 

Preparation (e). Weed Management 

22- Ewk¡x dh [ksrh dk fuEufyf[kr 'kh"kZdksa esa o.kZu djsaA 5 

(a). mRifr LFkku  (b). mi;qDr feV~Vh  (c). mUur izHksn (d). cht mipkj 

(e). moZjd izca/ku 

Describe the cultivation of green Gram (Mung) under following heads:- 



29 
 

(a). Origin Place (b). suitable Soil (c). Improved Varieties (d). seed 

Treatment (e). Fertilizer management 

23- Lkgdkjh [ksrh D;k gS\ lgdkjh [ksrh dh O;oLFkk ds fofHkUu Hkkxksa dk o.kZu djsaA 5 

What is Cooperative Farming.? Describe the different forms of 

Cooperative farming. 

24- Ikihrk dh [ksrh dk fuEufyf[kr 'kh"kZdksa esa o.kZu djsA     5 

(a). dqy   (b). tyok;q  (c). iztkfr;kW (d). izo/kZu  (e). mit 

Describe the cultivation of Papaya under following heads:- 

(a). Family (b). Climate(c). Varities (d). Propagation  (e). Yield 

25- eVj dh [ksrh dk fuEufuf[kr 'kh"kZdksa esa o.kZu djsaA     5  

(a). dqy   (b). tyok;q  (c). Hkwfe (d). mUur’khy fdLesa  (e). cht nj  

Describe the cultivation of Papaya under following heads:- 

(a). Family (b). Climate (c). Soil (d). Improved verities  (e). Seed rate  

26- Mgfy;k dh oSKkfud [ksrh dk o.kZ djsaA       5 

Describe the scientist cultivation of Dahlia. 


